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Oswestry School - Sixth Form Assessment Test

Maths

Calculators are not allowed. Use the space on the right hand side for your working. Write your final
answer on the double line.

1

Express the following as a fraction in its

lowest terms.

0.125
0.21 /2
2
2
i 273
-1 /2
. 83
3 | simplify
| ByH*
|
10y3x 4y5 /2
8y?
4 | Atreeis 125cm tall.
It grows to 145cm tall.
What is the percentage increase in height?
/1
5 | Solve the inequality
x? <36 Fi
6 | Find the volume of this prism.
\ v
Ao
S 7em
/1
7 | Simplify ¥/50
/1
8| (3+v2)(5 - V2)
/1
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9 | Express the answer in standard form
(3% 10%) x (4 x 102)
/1
""" 10 | Find the values of x if
2x2—11x+12=0
/2
11 | The price of a computer is reduced by 10%.
If the computer’s reduced price is £1800, how
much was the original price?
/1
12 | gimplify —F- — 3
Simplif —
/1
13 | Find the area of the sector. Take T = 3.1
6cm
/1
14 | Solve
3x+5y=1
2x =3y = —12
/2
15 | Find the length of MN
N
10cm
L 6cm M
Write down the value of sin N
/2
16 | Make x the subject
y= x4g
-b
x /1

Page 2




Oswestry School - Sixth Form Assessment Test

17

P is directly proportional to the square of g.
P=20wheng=2
Find the value of P wheng=3

1

Write down five positive whole numbers that |

have a mean of 5, a median of 5 and a mode
of 7.

/1

19

' The table shows information about a group of

adults. One of the men is chosen at random.
What is the probability that he is married?

Married Not Married

Men 7 3

Women 15 10

/1

20

These triangles are similar. Find a and b.

9 :::8 a X\ b

12 18

/1

/2
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22

/2

23

sin30° = 0.5 and cos 30° = 0.87
Find the area of the triangle ABC

B
10cm

/1

24

Write down ""c'H'éﬁiéaUation of a line that passes
through (3,5) and is parallel to the line
y=2x+3

/1

25

Choose an equation from the list that
represents each of the graphs.

y=% y=x3+x2

/2
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PAPER 1: READING | SAMPLE PAPER
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PAPER 3: USE OF ENGLISH | SAMPLE PAPER
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Reading Part 3, Use of English Part 1 - Answer sheet

Reading Part 3 — For each question, choose from the people (A =E).

6. 2.
17. - 25. -
18. - 26. _
9. &
20. - 28. -
21, - 29. -
22, - 30. -
23.

Use of English Part 1 - For each question, mark the correct letter A, B, C, or D below.
1

2.

10.
11.

12.



Writing Test

Write about the following topic:
Do you think that you have to spend a lot of money on fashion to look good?

Give reasons for your answer and include any relevant examples from your own knowledge or
experience.

Write your answer in 120-180 words in an appropriate style.



